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1 km² = 100 ha,  1 ha = 100 a,     1 a = 100 m²,
1 m² = 100 dm²,  1 dm² = 100 cm²,  1 cm² = 100 mm²



Rechne um.


1)   a) 251 mm² =  2,51 cm²	b)   812 mm² =  8,12 cm²

2)  a) 59,7 mm² = 0,597 cm²	b)  231 dm² =  2,31 m² 

3)  a) 37,3 cm² = 0,373 dm²	b)  61,6 mm² = 0,616 cm²

4)  a) 1,61 dm² =   161 cm²	b)  9,76 cm² =   976 mm²

5)  a) 0,149 cm² =  14,9 mm²	b)  0,128 dm² =  12,8 cm²

6)  a) 0,404 m² =  40,4 dm²	b) 0,896 dm² =  89,6 cm²

7)  a)  12,2 m² = 0,122 a	b)   304 m² =  3,04 a  

8)  a)   2580 a =  25,8 ha	b)   50,9 a = 0,509 ha 

9)  a)  55,1 m² = 0,551 a	b)  5930 m² =  59,3 a  

10)  a)  0,34 a =    34 m²	b)  0,905 ha =  90,5 a  
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